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QUESTION 1

Click the Exhibit button. 
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An employee at a company is placing a call to telephone number 214-774-3299. The employee, believing 

this is a toll call, dials 9-1-214-774-3299. However, this call is a local call. 

Access Code 1 = 9 

The Central Office utilizes a 7-digital dialing plan. 

Given the DMI indexes programmed into this Communication Server 1000 shown in the exhibit, which DMI 

would be used to modify the dialed digits to outpulse the correct digits to the Central Office? 

A. DMI Table 1 

B. DMI Table 2 

C. DMI Table 3 
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D. DMI Table 4 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Refer to the customer\\'s dialing plan and programming show in the exhibits. Assuming all required Route List Indexes
have been programmed, why will the station user\\'s dialed call of 8-1-717-398-8001 not complete? 

A. AC2 Access Code was not dialed 

B. NPA1717isnot provisioned in the customer\\'s database 

C. 398-8001 would be denied under the SDRR programming 

D. AC1 AccessCodewas not dialed 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 
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Given a company\\'s dialing plan shown in the exhibit, if a station user at the company in New York City dials
8-890-4233, what will happen to the call? 

A. The Access Code of 8 will be removed and the call will complete over Route List Index# 1. 

B. The call will receiveintercept treatment as indicated in the Customer Data Block (CDB) and fail to complete. 

C. The NARS software will remove the Access Code and Location Code and terminate the call internally at Directory
Number 4233 

D. The Access Code of 8 will be removed andthe call will completeover RouteList Index #0. 

Correct Answer: D 
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QUESTION 4

Which IP Peer Networking component provides the centralized call routing for Communication Server 1000 systems in
an Avaya Aura network solution? 

A. Call Manger 

B. System manager 

C. SessionBorder Controller 

D. Session Manager 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

A customer has a Communication Server 1000RIs. 7 x system. Telephone users are required to use Basic 

Alternate Route Selection (BARS) to make toll calls. 

What Class of Service (CLS) adjustment must you make telephone in order to allow the system to use the 

telephone network class of service (NCOS) to determine call eligibility? 

A. change the CLS entrySRE to CTD 

B. change the CLS entrySRE to FR2 

C. change the CLS entrySRE to CUN 

D. change the CLS entry SRE to UNR 

Correct Answer: D 
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